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Nazia’s mobile phone has a strange problem. Each time she sends an SMS, it is also sent to all the existing
numbers of her call list. At some point Nazia deletd her call list. The next SMS she sent was the 16" SMS sent
from her mobile phone. How many numbers were there in her call list before she deleted her call list?
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Two isosceles triangles are possible with 120 square unit area of each and length of edges are integers. Such
one is with 17,17 and 16 unit edges. Determine the length of edges of second one. [Hint: In AABC if AB=AC
and AD is perpendicular to BC then BD=CD.]
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ABC is a triangle where AN is perpendicular to CB and BM perpendicular to AC. The length of BC is 10, that
of AC is 12 and that of AN is 6. Find the length of BM.
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Let a be an integer divisible by 2 but not divisible by 4. What is the largest positive integer n such that 2"
divides a®%+ a®® + ........ + %%
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There are some boys and girls in a class. Every boy has exactly three girlfriends, and every girl has exactly three
boyfriends. If there are 13 boys in the class, how many girls are there? (Assume that friendship is mutual, i.e. if
A is friend of B then B is also friend of A.)
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Therearel, 2, 3,4,5,6, 7, 8, 9 kg weights in your home and only one piece of each and a balance. If you keep
a weight on the left side of that balance its weight becomes twice. Every time you keep three weights so that the
balance remains in equilibrium. And every time you carry 3 kg less weight than previous time. First time you
may carry 20 kg weight. In how many ways do you can keep weights on balance?
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A positive integer is called “Fantabulous” if there is another fantabulous positive integer smaller than it. Find the
number of fantabulous integers.

. ABCD @6 simersa) @ity AB=12 @5 BC=V61 P @5z Q, AC «7 T+ @3+ 231 fag st AP=CQ| P ¢ Q %
BC 93 AD 97 T 3af@e PR @3k QS 1% Sifsl 211 3 PQRS 7997 93k PR=CQ =& 7 PQ @3 tndy ez 3411

ABCD is a rectangle where AB= V2 and BC= 6 . P and Q are two points on AC such that AP=CQ. From P
and Q two perpendicular PR and QS are drawn on BC and AD respectively. If PRQS is a rhombus and
PR=CQ, then find the length of PQ.
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The ratio of G.C.D and L.C.M of two integers are 1: 36 and sum of the integers is 5460. What is the difference
between these two integers?
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There is a point O inside AABC. After joining A,O; B,O and C,O extend those line and they will intersect BC,
AC and AB at points D, E and F respectively. AF:FB=4:3 and area of ABOF and ABOD is 60 and 70 square
unit respectively. Find the triangle with the largest area among AAOF, AAOE, ACOE and ACOD and write
down the area of that one.
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